HIGHER-ORDER ASYMPTOTIC NORMALITY OF APPROXIMATIONS TO THE MODIFIED SIGNED LIKELIHOOD RATIO STATISTIC FOR REGULAR MODELS¹

BY HEPING HE AND THOMAS A. SEVERINI

Northwestern University

Approximations to the modified signed likelihood ratio statistic are asymptotically standard normal with error of order n^{-1} , where n is the sample size. Proofs of this fact generally require that the sufficient statistic of the model be written as $(\hat{\theta}, a)$, where $\hat{\theta}$ is the maximum likelihood estimator of the parameter θ of the model and a is an ancillary statistic. This condition is very difficult or impossible to verify for many models. However, calculation of the statistics themselves does not require this condition. The goal of this paper is to provide conditions under which these statistics are asymptotically normally distributed to order n^{-1} without making any assumption about the sufficient statistic of the model.

1. Introduction. Let $Y_1, Y_2, ..., Y_n$ be independent and identically distributed random variables, each distributed according to a distribution with density function $p(y; \theta), \theta \in \Theta$. The likelihood function for θ based on $Y_1, Y_2, ..., Y_n$ is given by

$$L(\theta) \equiv L(\theta; Y_1, Y_2, \dots, Y_n) = \prod_{i=1}^n p(y_i; \theta), \quad \theta \in \Theta;$$

let $\ell(\theta) = \log L(\theta)$ denote the log-likelihood function.

Suppose that $\theta = (\psi, \lambda)$, where ψ is a scalar parameter of interest and λ is a nuisance parameter. Inference about ψ can be based on the signed likelihood ratio statistic R,

$$R \equiv R(\psi) = \operatorname{sgn}(\hat{\psi} - \psi) [2(\ell(\hat{\theta}) - \ell(\hat{\theta}_{\psi}))]^{1/2},$$

where $\hat{\theta}$ denotes the maximum likelihood estimator of θ and $\hat{\theta}_{\psi}$ denotes the maximum likelihood estimator of θ with ψ held fixed. Under standard regularity conditions, R is asymptotically distributed according to a standard normal distribution with error $O(n^{-1/2})$; see, for example, [4].

Received July 2005; revised January 2007.

¹Supported by the NSF under Grants DMS-01-02274 and DMS-06-04123.

AMS 2000 subject classifications. Primary 62F05; secondary 62F03.

Key words and phrases. Edgeworth expansion theory, modified signed likelihood ratio statistic, higher-order normality, sufficient statistic, Cramér-Edgeworth polynomial.

Adjustments to R have been proposed which reduce this error to $O(n^{-1})$ or even $O(n^{-3/2})$. One such statistic is the modified signed likelihood ratio statistic R^* , proposed by [2]. General discussions of the derivation of R^* and its properties are given in [3–5, 13, 17] and [23]. The analysis in these papers is based on the following assumption:

ASSUMPTION 1.1. The sufficient statistic for the model may be written as $(\hat{\theta}, a)$, where $\hat{\theta}$ denotes the maximum likelihood estimator of θ and a is an ancillary statistic.

Here ancillarity is taken to mean that the distribution of a does not depend on θ , although if a is used in Assumption 1.1, it must satisfy the additional requirement that $(\hat{\theta}, a)$ is sufficient. Under Assumption 1.1, the log-likelihood function $\ell(\theta)$ may be written as $\ell(\theta; \hat{\theta}, a)$ to emphasize that it is a function of the sufficient statistic $(\hat{\theta}, a)$ as well as the usual argument θ . Note that some distributions, such as full-rank exponential family distributions and certain transformation models, satisfy this assumption; however, for other types of models, it is often very difficult or impossible to verify Assumption 1.1.

The modified signed likelihood ratio statistic R^* is given by

$$R^* = R + \frac{1}{R} \log \left(\frac{U}{R}\right),$$

where

$$\begin{split} U &= \left| \frac{\left(\ell_{\cdot;\hat{\theta}}(\hat{\theta}) - \ell_{\cdot;\hat{\theta}}(\hat{\theta}_{\psi})\right)^{T}}{\ell_{\lambda;\hat{\theta}}(\hat{\theta}_{\psi})} \right| / (|j_{\lambda\lambda}(\hat{\theta}_{\psi})|^{1/2} |\hat{J}|^{1/2}), \\ \ell_{\cdot;\hat{\theta}}(\theta) &= \frac{\partial \ell(\theta;\hat{\theta},a)}{\partial \hat{\theta}}, \qquad \ell_{\lambda;\hat{\theta}}(\hat{\theta}_{\psi}) = \frac{\partial^{2} \ell(\hat{\theta}_{\psi};\hat{\theta},a)}{\partial \lambda \, \partial \hat{\theta}}, \\ j_{\lambda\lambda}(\hat{\theta}_{\psi}) &= -\ell_{\lambda\lambda}(\hat{\theta}_{\psi}) \quad \text{and} \quad \hat{J} = -\ell_{\theta\theta}(\hat{\theta};\hat{\theta},a). \end{split}$$

The sign of U is taken to be the same as that of R so that U/R is never negative. In the moderate-deviation case, R^* is asymptotically normally distributed with error $O(n^{-3/2})$, while in the large-deviation case R^* is asymptotically normally distributed with error $O(n^{-1})$; see [2]. Note that the errors in both cases are uniform and relative.

For models in which Assumption 1.1 cannot be verified, computation of U is difficult or impossible. [10] uses a variable T in place of U; Assumption 1.1 is not needed for determination of T. However, it does require a prior density function for θ . [22] and [18] propose, respectively, an approximation \bar{R}^* to R^* based on covariances and an approximation \hat{R}^* to R^* based on empirical covariances.

The covariance-based approximation is based on the fact that, in the expression for U, $\ell_{\cdot \cdot \hat{\theta}}(\hat{\theta}) - \ell_{\cdot \cdot \hat{\theta}}(\theta)$ and $\ell_{\theta \cdot \hat{\theta}}(\theta)$ may be approximated by

$$\bar{\ell}_{::\hat{\theta}}(\hat{\theta}) - \bar{\ell}_{::\hat{\theta}}(\theta) = \{Q(\hat{\theta};\hat{\theta}) - Q(\theta;\hat{\theta})\}i(\hat{\theta})^{-1}\hat{J}$$

and $\bar{\ell}_{\theta;\hat{\theta}}(\theta) = I(\theta;\hat{\theta})i(\hat{\theta})^{-1}\hat{J}$ respectively, where

$$I(\theta; \theta_{\circ}) = E[\ell_{\theta}(\theta)\ell_{\theta}(\theta_{\circ})^{T}; \theta_{\circ}], \qquad Q(\theta; \theta_{\circ}) = E[\ell(\theta)\ell_{\theta}^{T}(\theta_{\circ}); \theta_{\circ}]$$

and $i(\hat{\theta}) = I(\hat{\theta}; \hat{\theta})$. Let \bar{U} denote the approximation of the statistic U based on the above approximation; then an approximation to R^* is given by

$$\bar{R}^* = R + \frac{1}{R} \log \frac{\bar{U}}{R};$$

see [22] for further details.

Let

$$\hat{Q}(\theta; \theta_{\circ}) = \sum \ell^{(j)}(\theta) \ell^{(j)}_{\theta}(\theta_{\circ})^{T}, \qquad \hat{I}(\theta; \theta_{\circ}) = \sum \ell^{(j)}_{\theta}(\theta) \ell^{(j)}_{\theta}(\theta_{\circ})^{T}$$

and $\hat{\imath}(\hat{\theta}) = \hat{I}(\hat{\theta}; \hat{\theta})$, where $\ell^{(j)}(\theta)$ denotes the log-likelihood function based on the jth observation alone. Then $\ell_{\cdot \cdot \hat{\theta}}(\hat{\theta}) - \ell_{\cdot \cdot \hat{\theta}}(\theta)$ and $\ell_{\theta \cdot \hat{\theta}}(\theta)$ may be approximated by

$$\hat{\ell}_{\cdot\cdot\hat{\theta}}(\hat{\theta}) - \hat{\ell}_{\cdot\cdot\hat{\theta}}(\theta) = \{\hat{Q}(\hat{\theta};\hat{\theta}) - \hat{Q}(\theta;\hat{\theta})\}\hat{i}(\hat{\theta})^{-1}\hat{J}$$

and $\hat{\ell}_{\theta;\hat{\theta}}(\theta) = \hat{I}(\theta;\hat{\theta})\hat{\iota}(\hat{\theta})^{-1}\hat{J}$ respectively. Let \hat{U} denote the statistic U based on these approximations; then an approximation to R^* is given by

$$\hat{R}^* = R + \frac{1}{R} \log(\hat{U}/R);$$

see [18] for further details.

The higher-order asymptotic normality of \bar{R}^* and \hat{R}^* has been established by [22] and [18], respectively, under Assumption 1.1. The goal of this paper is to prove that these statistics are asymptotically normal with error $O(n^{-1})$ without requiring Assumption 1.1.

2. Notation and regularity conditions. For $n = 1, 2, ..., \text{let } Y = (Y_1, Y_2, ..., Y_n)$, where $Y_1, Y_2, ..., Y_n$ are i.i.d. random vectors with each of dimension d_0 and let $p(\cdot, \theta)$ denote the density function of Y_1 . Here θ is a k-dimensional parameter of the form

$$\theta = (\theta_1, \theta_2, \dots, \theta_k) \equiv (\psi, \lambda_1, \lambda_2, \dots, \lambda_{k-1}) \equiv (\psi, \lambda),$$

where ψ is the scalar parameter of interest and λ is the nuisance parameter vector. Let $L(\theta) \equiv L(\theta; Y)$ denote the likelihood function for $\theta \in \Theta$ and $Y \in \mathcal{R}^{n \times d_{\circ}}$ and let $\ell(\theta) = \log L(\theta)$. For each $\theta \in \Theta$, let

$$E_{\theta} = \{ Y \in \mathcal{R}^{n \times d_{\circ}} | L(\theta; Y) > 0 \}.$$

For r, s = 1, 2, ..., k, define

$$\ell_{\theta}(\theta) = \frac{\partial}{\partial \theta} \ell(\theta), \qquad \ell_{\theta\theta}(\theta) = \frac{\partial^2}{\partial \theta \partial \theta^T} \ell(\theta),$$

$$\ell_{\theta\theta\theta_r}(\theta) = \frac{\partial^3}{\partial \theta \partial \theta^T \partial \theta_r} \ell(\theta) \quad \text{and} \quad \ell_{\theta\theta\theta_r\theta_s}(\theta) = \frac{\partial^4}{\partial \theta \partial \theta^T \partial \theta_r \partial \theta_s} \ell(\theta).$$

ASSUMPTION 2.1. Assume that Θ is an open subset of \mathcal{R}^k .

1. $\ell(\theta)$ is five times continuously differentiable at each $\theta \in \Theta$ with respect to θ_i , i = 1, 2, ..., k, for all $Y \in E_{\theta}$;

2.
$$\int \frac{\partial}{\partial \theta_{i}} L(\theta; y) \, dy = \int \frac{\partial^{2}}{\partial \theta_{i} \, \partial \theta_{j}} L(\theta; y) \, dy = \int \frac{\partial^{3}}{\partial \theta_{i} \, \partial \theta_{i} \, \partial \theta_{k}} L(\theta; y) \, dy = \int \frac{\partial^{4}}{\partial \theta_{i} \, \partial \theta_{j} \, \partial \theta_{k} \, \partial \theta_{\ell}} L(\theta; y) \, dy = 0; i, j, \kappa, \ell = 1, 2, \dots, k, \text{ for each } \theta \in \Theta;$$

- 3. $\operatorname{Var}\{\ell_{\psi}(\theta)\} = E[\ell_{\psi}^2(\theta)] > 0$, $\operatorname{Var}\{\ell_{\lambda}(\theta)\} = E[\ell_{\lambda}(\theta)\ell_{\lambda}(\theta)^T]$ is positive definite, for each $\theta \in \Theta$;
- 4. $(\ell_{\theta_i}(\theta), \ell_{\theta_j\theta_k}(\theta), \ell_{\theta_\ell\theta_m\theta_p}(\theta), \ell_{\theta_q\theta_r\theta_s\theta_t}(\theta))$ has joint cumulants up to third order, where $i, j, \kappa, \ell, m, p, q, r, s, t = 1, 2, ..., k$;
 - 5. The maximum likelihood estimator of θ is consistent as $n \to \infty$.

Conditions ensuring that part (5) of Assumption 2.1 holds are given, for example, by [1, 24] and [16].

Let $\ell^{(i)}(\theta) = \log p(Y_i; \theta)$, $i = 1, 2, \dots, n$. Then, for $r, s, t = 1, \dots, k$, we have

$$\ell(\theta) = \sum_{i=1}^{n} \ell^{(i)}(\theta), \qquad \ell_{\theta}(\theta) = \sum_{i=1}^{n} \ell^{(i)}_{\theta}(\theta),$$
$$\ell_{\theta\theta}(\theta) = \sum_{i=1}^{n} \ell^{(i)}_{\theta\theta}(\theta), \qquad \ell_{\theta_r\theta_s\theta_t}(\theta) = \sum_{i=1}^{n} \ell^{(i)}_{\theta_r\theta_s\theta_t}(\theta).$$

For $r = 1, \ldots, k$, let

$$Z_{\theta} = \sum_{i=1}^{n} \frac{1}{\sqrt{n}} \ell_{\theta}^{(i)}(\theta),$$

$$Z_{\theta\theta} = \sum_{i=1}^{n} \frac{1}{\sqrt{n}} (\ell_{\theta\theta}^{(i)}(\theta) - V_{\theta\theta}),$$

$$Z_{\theta\theta\theta_r} = \sum_{i=1}^{n} \frac{1}{\sqrt{n}} (\ell_{\theta\theta\theta_r}^{(i)}(\theta) - V_{\theta\theta\theta_r}),$$

Let d denote the rank of the covariance matrix of Z. By the spectral decomposition of the covariance matrix of Z, there exist a matrix $T = (t_{ij})_{d \times (k+k^2+k^3)}$ and a random vector X with d elements such that $X = T \cdot Z$, $Cov(X) = I_{d \times d}$ and $Z = I_{d \times d}$

 $(T'T)^{-1}T'X$. Let

$$\tilde{Y}_{i} = \begin{pmatrix} t_{1,1}\ell_{\psi}^{(i)}(\theta) + t_{1,2}\ell_{\lambda_{1}}^{(i)}(\theta) + \\ \cdots + t_{1,k+k^{2}+k^{3}}(\ell_{\lambda_{k-1}\lambda_{k-1}\lambda_{k-1}}^{(i)}(\theta) - V_{\lambda_{k-1}\lambda_{k-1}\lambda_{k-1}}) \\ t_{2,1}\ell_{\psi}^{(i)}(\theta) + t_{2,2}\ell_{\lambda_{1}}^{(i)}(\theta) + \\ \cdots + t_{2,k+k^{2}+k^{3}}(\ell_{\lambda_{k-1}\lambda_{k-1}\lambda_{k-1}}^{(i)}(\theta) - V_{\lambda_{k-1}\lambda_{k-1}\lambda_{k-1}}) \\ \vdots \\ t_{d,1}\ell_{\psi}^{(i)}(\theta) + t_{d,2}\ell_{\lambda_{1}}^{(i)}(\theta) + \\ \cdots + t_{d,k+k^{2}+k^{3}}(\ell_{\lambda_{k-1}\lambda_{k-1}\lambda_{k-1}}^{(i)}(\theta) - V_{\lambda_{k-1}\lambda_{k-1}\lambda_{k-1}}) \end{pmatrix},$$

where i = 1, 2, ..., n. Obviously, we have $X = \sum_{i=1}^{n} \frac{1}{\sqrt{n}} \tilde{Y}_i$, $Cov(\tilde{Y}_i) = I_{d \times d}$. Let $\|\cdot\|$ denote the Euclidean norm.

ASSUMPTION 2.2. The following three points are assumed:

- I. The distribution of \tilde{Y}_i has a finite cumulant generating function in a neighborhood of the origin, that is, $|\log(E[\exp\{\langle t, \tilde{Y}_i \rangle\}])| < +\infty$, where $||t|| < \varepsilon$ for some $\varepsilon > 0$.
- II. The characteristic function ξ of \tilde{Y}_i satisfies Cramér's condition, that is, for some k > 0, $\sup\{|\xi(t)|; ||t|| > k\} < 1$.
- III. Some power of ξ is integrable, that is, $\int_{-\infty}^{+\infty} \xi(t)^{\alpha} dt < +\infty$ for some real number $\alpha > 1$.

Condition II can be verified by applying the Riemann–Lebesgue lemma; see, for example, [7]. Condition III can be verified by applying a result such as Lemma 2.4.3 in [14].

3. Main result. The following theorem is the main result of the paper.

THEOREM 3.1. Assume that the Assumptions 2.1 and 2.2 hold. Then, uniformly for $-\infty < t < \infty$, we have

$$Pr(\bar{R}^* \le t) = \int_{-\infty}^t \frac{1}{\sqrt{2\pi}} \exp\left(-\frac{x^2}{2}\right) dx \left[1 + O(n^{-1})\right]$$

and

$$Pr(\hat{R}^* \le t) = \int_{-\infty}^t \frac{1}{\sqrt{2\pi}} \exp\left(-\frac{x^2}{2}\right) dx \left[1 + O(n^{-1})\right].$$

That is, \bar{R}^* and \hat{R}^* converge in distribution to standard normal random variables with the error of order of n^{-1} .

Note that the $O(n^{-1})$ errors in the normal approximations to the distribution functions of \bar{R}^* and \hat{R}^* are relative and uniform in t, the argument of the distribution function under consideration. The uniformity follows directly from Theorem 3.2 of [19], while relativeness follows from the fact that the cumulative distribution function of a standard normal random variable is O(1) as $n \to \infty$.

The proof of Theorem 3.1 is based on the following lemma.

LEMMA 3.1. Assume that Assumption 2.2 is satisfied. Define X as in Section 2; then

$$Pr(X \in \mathcal{B}) = \int_{\mathcal{B}} \xi_n(u) \, du + o(n^{-1}),$$

where $E\{\|X\|^4\} < +\infty$; \mathcal{B} is any Borel set in \mathcal{R}^d ; $\xi_n(u) = \sum_{r=0}^2 P_r(-\phi: \{\chi_{v,n}\})(u)$; $P_r(-\phi: \{\chi_{v,n}\})(u)$ is the density function of the finite signed measure with characteristic function $\tilde{P}_r(it: \{\chi_{v,n}\}) \exp\{-\frac{1}{2}\|t\|^2\}$, $t \in \mathbb{R}^d$, r = 0, 1, 2; $\tilde{P}_r(z: \{\chi_{v,n}\})$, r = 0, 1, 2, are Cramér–Edgeworth polynomials defined in [6]; and $\chi_{v,n}$, $1 \le v \le 4$ are the cumulants of X, satisfying $\chi_{1,n} = 0$, $\chi_{2,n} = 1_{\mathcal{R}^d}$. That is, equations (3.1)–(3.3) in [19] are satisfied for s = 4.

PROOF. [21] gives conditions for the validity of multivariate Edgeworth expansions for a sequence of random variables. We check those conditions so that we can use [21] to prove this lemma.

Using the properties of X given in the previous section, condition I of Assumption 2.2 implies condition (i) in Corollary 4.2 of [21] and condition II of Assumption 2.2 implies condition (ii) in Corollary 4.2 of [21]. It is trivial to verify that condition (iii) in Corollary 4.2 of [21] is also satisfied. Condition III in Assumption 2.2 implies that some power of ξ is integrable. Therefore, the conditions of Theorem 3.1 in [21] for s=4, $\rho_{4,n}(t)=a_n(t)^{-1}=n^{-1/2}$, $\varepsilon_n=n^{-3/2}$ follow from Corollary 4.2 in [21].

Applying Theorem 3.1 in [21] shows that equation (3.7) in Theorem 3.1 in [21] holds for s = 4, $\varepsilon_n = n^{-3/2}$ and, hence, that condition in Corollary (3.3) of [21] is satisfied. Therefore, equation (3.10) in Corollary (3.3) of [21] gives that

$$Pr(X \in \mathcal{B}) = \int_{\mathcal{B}} \xi_n(u) \, du + o(n^{-1}),$$

where \mathcal{B} and $\xi_n(u)$ are the notation explained in this lemma. By Assumption 2.1, it is obvious that $E\{\|X\|^4\} < \infty$. Therefore, equations (3.1), (3.2) and (3.3) in [19] hold for s = 4. \square

PROOF OF THEOREM 3.1. We begin by outlining the basic idea of the proof. Suppose that a sequence of distributions can be approximated to a certain order of accuracy by an Edgeworth series; then Theorem 3.2 of Skovgaard [19] shows that such an expansion may be transformed by a sequence of deterministic or stochastic

smooth functions of the corresponding random vectors to yield another Edgeworth expansion of the resulting sequence of distributions. The terms in this expansion may be calculated from the moments obtained by the delta method, that is, the moments formally calculated from a Taylor series expansion omitting terms of high order. Thus, to prove the theorem, we use Lemma 3.1 to obtain an Edgeworth series approximation to the distribution of X and then, in Section 5, show that \overline{R}^* has an expansion in terms of X. Theorem 3.2 of [19] then gives an Edgeworth series approximation to the distribution of \overline{R}^* ; the same approach can be used for \hat{R}^* . As noted above, the uniformity in Theorem 3.1 follows from the uniformity in equation (3.13) of Theorem 3.2 of [19].

Lemma 3.1 shows that equations (3.1)–(3.3) in [19] hold. Note that \bar{R}^* does not satisfy the first part of equation (3.4) of [19]; thus, we begin by constructing a location adjustment of \bar{R}^* . Let

$$\begin{split} \bar{\bar{R}}^* &\equiv \bar{R}^* + \left[\frac{1}{6} (-V_{\psi\psi})^{-3/2} V_{\psi\psi\psi} - \frac{1}{2} (-V_{\psi\psi})^{-1/2} \operatorname{tr}(V_{\lambda\lambda}^{-1} V_{\lambda\lambda\psi}) \right. \\ &+ \left. \frac{1}{2} (-V_{\psi\psi})^{-3/2} v_{\psi,\psi\psi} - (-V_{\psi\psi})^{-1/2} \operatorname{tr}(V_{\lambda\lambda}^{-1} v_{\lambda,\lambda\psi}) \right] n^{-1/2}. \end{split}$$

Expanding the corresponding likelihood equations shows that $\hat{\theta}$ and $\hat{\theta}_{\psi}$ can be considered as stochastic functions of Z; see [20], particularly equation (6.2). The formula of \bar{R}^* contains $\hat{\theta}$ and $\hat{\theta}_{\psi}$. By its expansion, \bar{R}^* can be similarly considered as a stochastic function of Z and it is equal to 0 when Z=0. Hence, \bar{R}^* satisfies the first part of equation (3.4) in [19]. However, \bar{R}^* considered as a stochastic function of Z is not equal to zero when Z=0. Hence, Theorem 3.2 in [19] can be applied only to \bar{R}^* to obtain its asymptotic distribution. Note that the function f_n in Theorem 3.2 in [19] can be a stochastic function; see Remark 3.8 in [19]. The asymptotic distribution of \bar{R}^* is obtained by reversing the location adjustment in the final part of this proof.

By using Taylor series expansions and collecting terms by orders of $n^{-1/2}$, \bar{R}^* may be expanded,

$$\bar{R}^* = (-V_{\psi\psi})^{-1/2} Z_{\psi}
+ \left[\frac{1}{2} (-V_{\psi\psi})^{-3/2} Z_{\psi\psi} Z_{\psi} - (-V_{\psi\psi})^{-1/2} Z_{\psi\lambda}^T V_{\lambda\lambda}^{-1} Z_{\lambda} \right]
(3.1) \qquad - \frac{1}{2} (-V_{\psi\psi})^{-3/2} V_{\psi\psi\lambda}^T V_{\lambda\lambda}^{-1} Z_{\lambda} Z_{\psi}
+ \frac{1}{2} (-V_{\psi\psi})^{-1/2} Z_{\lambda}^T V_{\lambda\lambda}^{-1} V_{\psi\lambda\lambda} V_{\lambda\lambda}^{-1} Z_{\lambda} + \frac{1}{6} (-V_{\psi\psi})^{-5/2} V_{\psi\psi\psi} Z_{\psi}^2 \right] n^{-1/2}
+ R(n^{-1}) + O_p(n^{-3/2}),$$

where $R(n^{-1})$ represents a finite number of terms of order n^{-1} such that the first four cumulants of $nR(n^{-1})$ are bounded in n; see Section 5 for details of the derivation of equation (3.1). Even though we can obtain the specific form of

 $R(n^{-1})$ by expanding \bar{R}^* to order $n^{3/2}$, we omit its specific form since it is extremely tedious. Note that $Z_{\psi}, Z_{\lambda}, \ldots$ in equation (3.1) may be viewed as functions of X. Thus, we can write $\bar{R}^* = f(X, \omega)$, where $f(\cdot; \omega)$ represents the function corresponding to the first three terms in equation (3.1); ω denotes the sample point of the underlying experiment and accounts for the contribution of the O_p term in (1). It follows that Theorem 3.2 in [19] can be applied to \bar{R}^* ; see Remark 3.8 of [19].

We know from equation (3.1) that at X=0, \bar{R}^* is four times differentiable, $\bar{R}^*(0)=0$ and $D\bar{R}^*(0)$ is of rank one; it follows that equation (3.4) in [19] holds. It is shown below that \bar{R}^* has asymptotic variance 1; hence, \bar{R}^* does not have to be normalized as in equation (3.5) of [19].

Write $\bar{R}^* = \bar{R} + O_p(n^{-3/2})$, where \bar{R} denotes the first three terms on the right-hand side of equation (3.1). Note that \bar{R} is a function of X. By the uniqueness of power series expansions, \bar{R} agrees with the Taylor series expansion of \bar{R}^* with respect to X up to a polynomial of a finite number of terms, neglecting terms of order $O_p(n^{-3/2})$.

Using the expression for \bar{R} given in equation (3.1), we obtain the following expression for $E[\bar{R}]$:

$$\begin{split} E[\bar{R}] &= \big\{ \frac{1}{2} (-V_{\psi\psi})^{-3/2} v_{\psi,\psi\psi} \\ &- (-V_{\psi\psi})^{-1/2} E[Z_{\psi\lambda}^T V_{\lambda\lambda}^{-1} Z_{\lambda}] \\ &+ \frac{1}{2} (-V_{\psi\psi})^{-3/2} V_{\psi\psi\lambda}^T V_{\lambda\lambda}^{-1} V_{\psi\lambda} \\ &+ \frac{1}{2} (-V_{\psi\psi})^{-1/2} E[Z_{\lambda}^T V_{\lambda\lambda}^{-1} V_{\psi\lambda\lambda} V_{\lambda\lambda}^{-1} Z_{\lambda}] \\ &- \frac{1}{6} (-V_{\psi\psi})^{-5/2} V_{\psi\psi\psi} V_{\psi\psi} \big\} n^{-1/2} + O(n^{-1}) \\ &= \big\{ \frac{1}{2} (-V_{\psi\psi})^{-3/2} v_{\psi,\psi\psi} + \frac{1}{6} (-V_{\psi\psi})^{-3/2} V_{\psi\psi\psi} \\ &- (-V_{\psi\psi})^{-1/2} \operatorname{tr}(V_{\lambda\lambda}^{-1} v_{\lambda,\lambda\psi}) \\ &- \frac{1}{2} (-V_{\psi\psi})^{-1/2} \operatorname{tr}(V_{\lambda\lambda}^{-1} V_{\lambda\lambda\psi}) \big\} n^{-1/2} + O(n^{-1}). \end{split}$$

Similar computations show that

$$V(\bar{R}) = 1 + O(n^{-1}),$$

 $K_3(\bar{R}) = O(n^{-1})$ and $K_4(\bar{R}) = O(n^{-1}).$

Let η_n be the density function with characteristic function

$$\hat{\eta}_n(t) = \exp\{i\langle t, \tilde{\chi}_{1,n}\rangle - \frac{1}{2}\tilde{\chi}_{2,n}(t,t)\} \sum_{r=0}^{2} \tilde{P}_r(it: \{\tilde{\chi}_{v,n}\}),$$

where

$$\begin{split} \tilde{\chi}_{1,n} &= \big[\frac{1}{2}(-V_{\psi\psi})^{-3/2}v_{\psi,\psi\psi} + \frac{1}{6}(-V_{\psi\psi})^{-3/2}V_{\psi\psi\psi} \\ &\quad - (-V_{\psi\psi})^{-1/2}\operatorname{tr}(V_{\lambda\lambda}^{-1}v_{\lambda,\lambda\psi}) \\ &\quad - \frac{1}{2}(-V_{\psi\psi})^{-1/2}\operatorname{tr}(V_{\lambda\lambda}^{-1}V_{\lambda\lambda\psi})\big]n^{-1/2} + O(n^{-1}), \\ \tilde{\chi}_{2,n} &= 1 + O(n^{-1}), \qquad \tilde{\chi}_{3,n} &= O(n^{-1}), \qquad \tilde{\chi}_{4,n} &= O(n^{-1}). \end{split}$$

Define

$$\rho_n(\alpha) = (\log n)^{1/2} (2 + \alpha)^{1/2}, \qquad \alpha > 0,$$

and

$$H_n(\alpha) = \{ t \in \mathcal{R}^{k+k^2+k^3} | ||t|| \le \rho_n(\alpha) \}, \quad \alpha > 0.$$

We now verify Assumption 3.1 in [19]. For all $\alpha > 0$ and all sufficiently large n, we have the following:

1. \bar{R}^* is four times continuously differentiable on $H_n(\alpha)$, and

$$\sup\{\|D^4\bar{R}^*(t)\| \mid t \in H_n(\alpha)\} = o(n^{-1}).$$

2. Define
$$\lambda_n = \sup\{(\|D^j \bar{R}^*(0)\|/j!)^{1/(j-1)}|2 \le j \le 3\}$$
, then $\lambda_n^3 = o(n^{-1})$.

The continuous differentiability of \bar{R}^* claimed in point 1 requires some clarification. Note that \bar{R}^* has a singularity at points where R=0 and $\bar{U}=0$. However, the singularity is removable. Whenever R=0, we must have $\psi=\hat{\psi}$, from which $\bar{U}=0$ follows. When ψ approaches $\hat{\psi}$, equations (5.11) and (5.16) in Section 5 show that $R=O((\hat{\psi}-\psi))$ and equations (5.7), (5.8) and (5.11) show that $\bar{U}=O((\hat{\psi}-\psi))$. Hence, \bar{U} and R approach zero at the same rate whenever R goes to zero. Furthermore, equation (5.14) shows that \bar{U}/R goes to 1. Therefore, the singularity is removed.

Therefore, we have shown that all conditions in Theorem 3.2 in [19] are satisfied for q = p = s = 4; it follows that

$$\eta_n(t) = \left[\sum_{r=0}^{2} P_r(-\phi_{0,\tilde{\chi}_{2,n}} : {\{\tilde{\chi}_{v,n}\}})(x) \right] \Big|_{x=x-\tilde{\chi}_{1,n}},$$

where

$$P_0(-\phi_{0,\tilde{\chi}_{2,n}}:\{\tilde{\chi}_{v,n}\})(x)$$

$$=\frac{1}{\sqrt{2\pi}\sqrt{\tilde{\chi}_{2,n}}}\exp\left(-\frac{x^2}{2\tilde{\chi}_{2,n}}\right),$$

$$\begin{split} P_{1}(-\phi_{0,\tilde{\chi}_{2,n}}:\{\tilde{\chi}_{v,n}\})(x) \\ &= -\frac{\tilde{\chi}_{3,n}}{6} \frac{1}{\sqrt{2\pi}\sqrt{\tilde{\chi}_{2,n}}} \left[\frac{3x}{\tilde{\chi}_{2,n}^{2}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) - \frac{x^{3}}{\tilde{\chi}_{2,n}^{3}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) \right], \\ P_{2}(-\phi_{0,\tilde{\chi}_{2,n}}:\{\tilde{\chi}_{v,n}\})(x) \\ &= \frac{\tilde{\chi}_{4,n}}{24\sqrt{2\pi}\sqrt{\tilde{\chi}_{2,n}}} \left[\frac{3}{\tilde{\chi}_{2,n}^{2}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) - \frac{6x^{2}}{\tilde{\chi}_{2,n}^{3}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) \right. \\ &\qquad \qquad + \frac{x^{4}}{\tilde{\chi}_{2,n}^{4}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) \right] \\ &\qquad \qquad + \frac{\tilde{\chi}_{3,n}^{2}}{72\sqrt{2\pi}\sqrt{\tilde{\chi}_{2,n}}} \left[-\frac{15}{\tilde{\chi}_{2,n}^{3}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) + \frac{45x^{2}}{\tilde{\chi}_{2,n}^{4}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) \right. \\ &\qquad \qquad - \frac{15x^{4}}{\tilde{\chi}_{2,n}^{5}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) + \frac{x^{6}}{\tilde{\chi}_{2,n}^{6}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) \right]. \end{split}$$

Let

$$C \equiv \left[\frac{1}{6} (-V_{\psi\psi})^{-3/2} V_{\psi\psi\psi} - \frac{1}{2} (-V_{\psi\psi})^{-1/2} \operatorname{tr}(V_{\lambda\lambda}^{-1} V_{\lambda\lambda\psi}) \right. \\ \left. + \frac{1}{2} (-V_{\psi\psi})^{-3/2} v_{\psi,\psi\psi} - (-V_{\psi\psi})^{-1/2} \operatorname{tr}(V_{\lambda\lambda}^{-1} v_{\lambda,\lambda\psi}) \right] n^{-1/2}.$$

Finally, it follows from equation (3.13) in [19] that

$$\begin{split} & Pr(\bar{R}^* \leq t) \\ & = Pr(\bar{R}^* \leq t + C) \\ & = \int_{-\infty}^{C+t} \sum_{r=0}^{2} P_r(-\phi_{0,\tilde{\chi}_{2,n}} : \{\tilde{\chi}_{v,n}\})|_{x=x-C} \, dx + o\left(\frac{1}{n}\right) \\ & = \int_{-\infty}^{t} \frac{1}{\sqrt{2\pi}\sqrt{\tilde{\chi}_{2,n}}} \exp\left(-\frac{x^2}{2\tilde{\chi}_{2,n}}\right) dx \\ & + \tilde{\chi}_{3,n} \int_{-\infty}^{t} -\frac{1}{6} \frac{1}{\sqrt{2\pi}\sqrt{\tilde{\chi}_{2,n}}} \left[\frac{3x}{\tilde{\chi}_{2,n}^2} \exp\left(-\frac{x^2}{2\tilde{\chi}_{2,n}}\right) - \frac{x^3}{\tilde{\chi}_{2,n}^3} \exp\left(-\frac{x^2}{2\tilde{\chi}_{2,n}}\right)\right] dx \\ & + \tilde{\chi}_{4,n} \int_{-\infty}^{t} \frac{1}{24\sqrt{2\pi}\sqrt{\tilde{\chi}_{2,n}}} \left[\frac{3}{\tilde{\chi}_{2,n}^2} \exp\left(-\frac{x^2}{2\tilde{\chi}_{2,n}}\right)\right] dx \end{split}$$

$$-\frac{6x^{2}}{\tilde{\chi}_{2,n}^{3}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) + \frac{x^{4}}{\tilde{\chi}_{2,n}^{n}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) dx + \tilde{\chi}_{3,n}^{2} \int_{-\infty}^{t} \frac{1}{72\sqrt{2\pi}\sqrt{\tilde{\chi}_{2,n}}} \left[-\frac{15}{\tilde{\chi}_{2,n}^{3}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) + \frac{45x^{2}}{\tilde{\chi}_{2,n}^{4}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) - \frac{15x^{4}}{\tilde{\chi}_{2,n}^{5}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) + \frac{x^{6}}{\tilde{\chi}_{2,n}^{6}} \exp\left(-\frac{x^{2}}{2\tilde{\chi}_{2,n}}\right) dx + o\left(\frac{1}{n}\right).$$

Note that

$$\tilde{\chi}_{2,n} = 1 + O\left(\frac{1}{n}\right), \qquad \tilde{\chi}_{3,n} = O\left(\frac{1}{n}\right), \qquad \tilde{\chi}_{4,n} = O\left(\frac{1}{n}\right).$$

Therefore, we have

$$Pr(\bar{R}^* \le t) = \int_{-\infty}^t \frac{1}{2\pi} \exp\left(-\frac{x^2}{2}\right) dx + O\left(\frac{1}{n}\right).$$

The proof for \hat{R}^* is very similar. We can expand \hat{R}^* to the third order and the $k + k^2 + k^3$ elements in the vector Z appear in its expansion as well. Since $\hat{R}^* = \bar{R}^* + O_p(1/n)$, the differences between the expansions of \hat{R}^* and \bar{R}^* exist only in terms of order n^{-1} or higher. The expansion of \hat{R}^* has the first, second, third and fourth order cumulants equal to the ones of the expansion of \bar{R}^* , up to the order $O(n^{-1})$. Therefore, similar computations give

$$Pr(\hat{R}^* \le t) = \int_{-\infty}^{t} \frac{1}{2\pi} \exp\left(-\frac{x^2}{2}\right) dx + O\left(\frac{1}{n}\right),$$

which finally concludes this proof.

4. An example. The linear-exponential model is used in the analysis of survival data. Under this model, survival times are assumed to have a distribution with density of the form

$$f(y) = (\psi + \lambda y) \exp[-(\psi y + \frac{1}{2}\lambda y^2)], \quad y > 0,$$

where $\psi > 0$ and $\lambda > 0$ are unknown parameters; note that this is not an exponential family model. The log-likelihood function, based on the independent survival

TABLE 1						
Remission	times	for	patients			

1	1	2	2	3	4	4	5	5	6	8
8	9	10	10	12	14	16	20	24	34	

times y_1, \ldots, y_n , is given by

$$\ell(\theta) = \sum_{i=1}^{n} \log(\psi + \lambda y_i) - \sum_{i=1}^{n} (\psi y_i + \frac{1}{2} \lambda y_i^2).$$

For this model, it is very difficult or impossible to verify Assumption 1.1. However, Assumptions 2.1 and 2.2 can be quite easily checked. Consider Assumption 2.1. Part 1 of this assumption is naturally satisfied. Part 2 follows from applying Corollary 2.4.1 in [8] on interchanging the order of differentiation and integration. Direct computation can be used to establish part 3; since the cumulant-generating function of the first four log-likelihood derivatives exists, part 4 of Assumption 2.1 is satisfied as well. Now consider Assumption 2.2. Since \tilde{Y}_i has a cumulant-generating function for this model, part I is satisfied. Applying the Riemann–Lebesgue lemma in [7] and Lemma 2.4.3 in [14] establishes parts II and III, respectively.

Thus, it follows from Theorem 2.1 that the modified versions of the signed likelihood ratio statistic, \bar{R}^* and \hat{R}^* , are each asymptotically normally distributed with error of order $o(n^{-1})$.

The data in Table 1 are from Example 7.2 in [15]; the values represent remission times in weeks for 21 patients with acute leukemia. Using this data and the linear-exponential model, confidence limits for ψ based on R, \bar{R}^* and \hat{R}^* were calculated; these are presented in Table 2. Table 2 also contains the results of a small

TABLE 2 Upper confidence limits based on R, \bar{R}^* and \hat{R}^*

Probability	Confidence limit			Coverage probability			
	R	$ar{R}^*$	Â*	R	$ar{R}^*$	Â*	
0.010	0.0206	0.0260	0.0263	0.0032	0.0125	0.0126	
0.025	0.0293	0.0353	0.0356	0.0150	0.0261	0.0264	
0.050	0.0373	0.0439	0.0443	0.0397	0.0526	0.0526	
0.100	0.0472	0.0545	0.0550	0.0745	0.1100	0.1102	
0.900	0.1327	0.1372	0.1375	0.8840	0.8990	0.8991	
0.950	0.1441	0.1469	0.1472	0.9366	0.9467	0.9469	
0.975	0.1540	0.1557	0.1559	0.9661	0.9742	0.9748	
0.990	0.1657	0.1664	0.1667	0.9808	0.9900	0.9902	

simulation study designed to estimate the coverage probabilities of confidence limits based on R, \bar{R}^* and \hat{R}^* . In the simulation study, the data were drawn independently from a linear exponential distribution with the parameter values taken to be the maximum likelihood estimates based on the data in Table 1. A Monte Carlo sample size of 100,000 was used.

5. Asymptotic expansion of \bar{R}^* . We now consider the expansion \bar{R}^* used in the proof of Theorem 3.1. Recall that, for $\theta = (\theta_1, \theta_2, \dots, \theta_k)$, $\psi = \theta_1$ and $\lambda = (\theta_2, \theta_3, \dots, \theta_k)$. Without loss of generality, we assume that ψ and λ are orthogonal parameters; see, for example, [9, 11, 12] and [4] (Section 2.7).

We begin by expanding $(\bar{\ell}_{:\hat{\theta}}(\hat{\theta}) - \bar{\ell}_{:\hat{\theta}}(\hat{\theta}_{\psi}))^T$:

(5.1)
$$\begin{aligned} (\bar{\ell}_{\cdot;\hat{\theta}}(\hat{\theta}) - \bar{\ell}_{\cdot;\hat{\theta}}(\hat{\theta}_{\psi}))^{T} \\ &= (\hat{\theta} - \hat{\theta}_{\psi})^{T} \hat{J} - \frac{1}{2} \sum_{s,t=1}^{k} \hat{\delta}_{s} \hat{\delta}_{t} \mu_{\theta,\theta_{s}\theta_{t}}^{T}(\hat{\theta}) i^{-1}(\hat{\theta}) \hat{J} + O_{p}(n^{-1/2}), \end{aligned}$$

where $\mu_{\theta,\theta_s\theta_t}(\theta) = E(\ell_{\theta}(\theta)\ell_{\theta_s\theta_t}(\theta);\theta)$, $\hat{\delta} = \hat{\theta} - \hat{\theta}_{\psi}$. The approximation $\bar{\ell}_{\theta;\hat{\theta}}(\hat{\theta}_{\psi})$ to $\ell_{\theta\cdot\hat{\theta}}(\hat{\theta}_{\psi})$ can be expanded,

(5.2)
$$\bar{\ell}_{\theta;\hat{\theta}}(\hat{\theta}_{\psi}) = \hat{J} - \sum_{t=1}^{k} \mu_{\theta,\theta\theta_t}(\hat{\theta})\hat{\delta}_t i^{-1}(\hat{\theta})\hat{J} + O_p(1),$$

so that $\bar{\ell}_{\lambda \cdot \hat{\theta}}(\hat{\theta}_{\psi})$ can be expanded,

(5.3)
$$\bar{\ell}_{\lambda;\hat{\theta}}(\hat{\theta}_{\psi}) = \hat{J}_{\lambda\theta} - \sum_{t=1}^{k} \hat{\delta}_{t} \mu_{\lambda,\theta\theta_{t}}(\hat{\theta}) i^{-1}(\hat{\theta}) \hat{J} + O_{p}(1).$$

Now let us turn to Taylor series expansion of the determinant of the asymmetric matrix A + X, where $A = (a_{ij})$ and $X = (x_{ij})$ are two square matrices of the same order. Then

$$|A + X| = |A| + \sum_{i,j} \frac{\partial |A + X|}{\partial x_{ij}} \Big|_{x=0} x_{ij} + O(x_{st}^{2})$$

$$= |A| + \sum_{i,j} \frac{\partial |A + X|}{\partial (a_{ij} + x_{ij})} \Big|_{x=0} x_{ij} + O(x_{st}^{2})$$

$$= |A| + \sum_{i,j} (-1)^{i+j} |(A + X)_{ij}| \Big|_{x=0} x_{ij} + O(x_{st}^{2})$$

$$= |A| + \sum_{i,j} (-1)^{i+j} |A_{ij}| x_{ij} + O(x_{st}^{2})$$

$$= |A| + \operatorname{tr}(\operatorname{adj}(A)X) + O(x_{st}^{2}) \quad \text{for any } s, t,$$

where $|(A + X)_{ij}|$ is the minor of $a_{ij} + x_{ij}$ in |A + X|; $|A_{ij}|$ is the minor of a_{ij} in |A|; |A|; |A|; adj(A) is the adjugate matrix of A; tr(adj(A)X) is the trace of adj(A)X. Recall that \bar{U} is given by

(5.5)
$$\bar{U} = \begin{vmatrix} (\bar{\ell}_{\cdot;\hat{\theta}}(\hat{\theta}) - \bar{\ell}_{\cdot;\hat{\theta}}(\hat{\theta}_{\psi}))^T \\ \bar{\ell}_{\lambda\cdot\hat{\theta}}(\hat{\theta}_{\psi}) \end{vmatrix} |j_{\lambda\lambda}(\hat{\theta}_{\psi})|^{-1/2} |\hat{J}|^{-1/2}.$$

Substituting equations (5.1) and (5.3) into equation (5.5) and applying equation (5.4) gives

(5.6)
$$\bar{U} = \begin{vmatrix} (\hat{\theta} - \hat{\theta}_{\psi})^T \hat{J} - \frac{1}{2} \sum_{s,t=1}^k \hat{\delta}_s \hat{\delta}_t \mu_{\theta,\theta_s\theta_t}^T(\hat{\theta}) i^{-1}(\hat{\theta}) \hat{J} \\ \hat{J}_{\lambda\theta} - \sum_{t=1}^k \hat{\delta}_t \mu_{\lambda,\theta\theta_t}(\hat{\theta}) i^{-1}(\hat{\theta}) \hat{J} \\ \times |j_{\lambda\lambda}(\hat{\theta}_{\psi})|^{-1/2} |\hat{J}|^{-1/2} + O_p(n^{-1}). \end{aligned}$$

Let

$$(5.7) A = \begin{pmatrix} (\hat{\theta} - \hat{\theta}_{\psi})^T \hat{J} \\ \hat{J}_{\lambda\theta} \end{pmatrix}, X = \begin{pmatrix} -\frac{1}{2} \sum_{s,t=1}^k \hat{\delta}_s \hat{\delta}_t \mu_{\theta,\theta_s\theta_t}^T(\hat{\theta}) i^{-1}(\hat{\theta}) \hat{J} \\ -\sum_{t=1}^k \hat{\delta}_t \mu_{\lambda,\theta\theta_t}(\hat{\theta}) i^{-1}(\hat{\theta}) \hat{J} \end{pmatrix}$$

and note that A + X is asymmetric. Applying equation (5.4) once more produces

(5.8)
$$\bar{U} = |A + X| |j_{\lambda\lambda}(\hat{\theta}_{\psi})|^{-1/2} |\hat{J}|^{-1/2} + O_{p}(n^{-1})$$

$$= \begin{vmatrix} (\hat{\theta} - \hat{\theta}_{\psi})^{T} \hat{J} \\ \hat{J}_{\lambda\theta} \end{vmatrix} |j_{\lambda\lambda}(\hat{\theta}_{\psi})|^{-1/2} |\hat{J}|^{-1/2}$$

$$+ \operatorname{tr}(\operatorname{adj}(A)X) |j_{\lambda\lambda}(\hat{\theta}_{\psi})|^{-1/2} |\hat{J}|^{-1/2} + O_{p}(n^{-1}).$$

Let

(5.9)
$$B \equiv \begin{vmatrix} (\hat{\theta} - \hat{\theta}_{\psi})^T \hat{J} \\ \hat{J}_{\lambda\theta} \end{vmatrix} |j_{\lambda\lambda}(\hat{\theta}_{\psi})|^{-1/2} |\hat{J}|^{-1/2} R^{-1},$$

which is the first term of equation (5.8) divided by R. Using the formula for the determinant of a partitioned matrix, an alternative form for B is

$$(5.10) B = |\hat{J}_{\lambda\lambda}|[(\hat{\theta} - \hat{\theta}_{\psi})^{T}\hat{J}_{\theta\psi} - (\hat{\theta} - \hat{\theta}_{\psi})^{T}\hat{J}_{\theta\lambda}\hat{J}_{\lambda\lambda}^{-1}\hat{J}_{\lambda\psi}]$$

$$\times |j_{\lambda\lambda}(\hat{\theta}_{\psi})|^{-1/2}|\hat{J}_{\lambda\lambda}|^{-1/2}R^{-1}[\hat{J}_{\psi\psi} - \hat{J}_{\psi\lambda}\hat{J}_{\lambda\lambda}^{-1}\hat{J}_{\lambda\psi}]^{-1/2}$$

$$= \frac{|\hat{J}_{\lambda\lambda}|^{1/2}(\hat{\psi} - \psi)[\hat{J}_{\psi\psi} - \hat{J}_{\psi\lambda}\hat{J}_{\lambda\lambda}^{-1}\hat{J}_{\lambda\psi}]^{1/2}}{R|j_{\lambda\lambda}(\hat{\theta}_{\psi})|^{1/2}}.$$

Hence, in order to find expansion of B, we have to find an expansion of R^{-1} . Note that

(5.11)
$$\hat{\lambda} - \hat{\lambda}_{\psi} = -(\hat{\psi} - \psi)\hat{J}_{\lambda\lambda}^{-1}\hat{J}_{\lambda\psi} - \frac{1}{2}(\hat{\psi} - \psi)^2\hat{J}_{\lambda\lambda}^{-1}\ell_{\lambda\psi\psi}(\hat{\theta}) + O_p(n^{-3/2}).$$

Therefore, we have

$$\frac{1}{R} = \operatorname{sgn}(\hat{\psi} - \psi) \left\{ |\hat{\psi} - \psi|^{-1} \hat{J}_{\psi\psi}^{-1/2} + \frac{1}{6} |\hat{\psi} - \psi|^{-3} \hat{J}_{\psi\psi}^{-3/2} + \sum_{t=1}^{k} \ell_{\theta_{t}\theta_{s}\theta_{t}}(\hat{\theta}) \hat{\delta}_{r} \hat{\delta}_{s} \hat{\delta}_{t} \right] + O_{p}(n^{-1}) \right\}$$

$$= (\hat{\psi} - \psi)^{-1} \hat{J}_{\psi\psi}^{-1/2} + \frac{1}{6} (\hat{\psi} - \psi)^{-3} \hat{J}_{\psi\psi}^{-3/2} + \sum_{r,s,t=1}^{k} \ell_{\theta_{r}\theta_{s}\theta_{t}}(\hat{\theta}) \hat{\delta}_{r} \hat{\delta}_{s} \hat{\delta}_{t} \right] + O_{p}(n^{-1}).$$
(5.12)

Using

$$|j_{\lambda\lambda}(\hat{\theta}_{\psi})|^{-1/2} = |\hat{J}_{\lambda\lambda}|^{-1/2} - \frac{1}{2}|\hat{J}_{\lambda\lambda}|^{-3/2} \operatorname{tr}\left(\operatorname{adj}(\hat{J}_{\lambda\lambda})\left(\sum_{s=1}^{k} \ell_{\lambda\lambda\theta_{s}}(\hat{\theta})\hat{\delta}_{s}\right)\right) + O_{p}\left(n^{-(k/2)-(1/2)}\right),$$
(5.13)

together with equations (5.12), we obtain the following expansion of B:

$$B = \frac{1}{R} \left\{ (\hat{\psi} - \psi) [\hat{J}_{\psi\psi} - \hat{J}_{\psi\lambda} \hat{J}_{\lambda\lambda}^{-1} \hat{J}_{\lambda\psi}]^{1/2} - \frac{1}{2} |\hat{J}_{\lambda\lambda}|^{-1} (\hat{\psi} - \psi) [\hat{J}_{\psi\psi} - \hat{J}_{\psi\lambda}^T \hat{J}_{\lambda\lambda}^{-1} \hat{J}_{\lambda\psi}]^{1/2} \right.$$

$$\left. \times \operatorname{tr} \left(\operatorname{adj}(\hat{J}_{\lambda\lambda}) \left(\sum_{s=1}^k \ell_{\lambda\lambda\theta_s}(\hat{\theta}) \hat{\delta}_s \right) \right) + O_p(n^{-1}) \right\}$$

$$= 1 - \frac{1}{2} |\hat{J}_{\lambda\lambda}|^{-1} \operatorname{tr} \left(\operatorname{adj}(\hat{J}_{\lambda\lambda}) \left(\sum_{s=1}^k \ell_{\lambda\lambda\theta_s}(\hat{\theta}) \hat{\delta}_s \right) \right)$$

$$\left. + \frac{1}{6} (\hat{\psi} - \psi)^{-2} \hat{J}_{\psi\psi}^{-1} \left[- \sum_{r,s,t=1}^k \ell_{\theta_r\theta_s\theta_t}(\hat{\theta}) \hat{\delta}_r \hat{\delta}_s \hat{\delta}_t \right] + O_p(n^{-1}). \right.$$

Now consider expansion of \bar{R}^* . Note that

$$\bar{R}^* = R + \frac{1}{R} \log \left\{ B + \frac{\text{tr}(\text{adj}(A)X)}{R|j_{\lambda\lambda}(\hat{\theta}_{\psi})|^{1/2}|\hat{J}|^{1/2}} + O_p(n^{-1}) \right\}$$

$$= R - \frac{1}{2} (\hat{\psi} - \psi)^{-1} |\hat{J}_{\lambda\lambda}|^{-1} \hat{J}_{\psi\psi}^{-1/2} \operatorname{tr} \left(\operatorname{adj}(\hat{J}_{\lambda\lambda}) \left(\sum_{r=1}^{k} \ell_{\lambda\lambda_r}(\hat{\theta}) \hat{\delta}^r \right) \right)$$

$$+ \frac{1}{6} (\hat{\psi} - \psi)^{-3} \hat{J}_{\psi\psi}^{-3/2} \left[- \sum_{r,s,t=1}^{k} \ell_{\theta_r \theta_s \theta_t}(\hat{\theta}) \hat{\delta}_r \hat{\delta}_s \hat{\delta}_t \right]$$

$$+ \frac{1}{R} \frac{\operatorname{tr}(\operatorname{adj}(A)X)}{\left| (\hat{\theta} - \hat{\theta}_{\psi})^T \hat{J} \right|} + O_p(n^{-1}).$$

Using the expansion

$$R = \operatorname{sgn}(\hat{\psi} - \psi) \left\{ [(\hat{\theta} - \hat{\theta}_{\psi})^{T} \hat{J} (\hat{\theta} - \hat{\theta}_{\psi})]^{1/2} + \frac{1}{6} [(\hat{\theta} - \hat{\theta}_{\psi})^{T} \hat{J} (\hat{\theta} - \hat{\theta}_{\psi})]^{-1/2} \right.$$

$$\times \left[\sum_{r,s,t=1}^{k} \ell_{\theta_{r}\theta_{s}\theta_{t}} (\hat{\theta}) \hat{\delta}_{r} \hat{\delta}_{s} \hat{\delta}_{t} \right] \right\} + O_{p}(n^{-1})$$

$$= (\hat{\psi} - \psi) \hat{J}_{\psi\psi}^{1/2} + \frac{1}{6} (\hat{\psi} - \psi)^{-1} \hat{J}_{\psi\psi}^{-1/2}$$

$$\times \sum_{r,s,t=1}^{k} \ell_{\theta_{r}\theta_{s}\theta_{t}} (\hat{\theta}) \hat{\delta}_{r} \hat{\delta}_{s} \hat{\delta}_{t} + O_{p}(n^{-1})$$

for R in equation (5.15) yields

(5.17)
$$\begin{split} \bar{R}^* &= (\hat{\psi} - \psi) \hat{J}_{\psi\psi}^{1/2} \\ &+ \left\{ \frac{1}{6} (\hat{\psi} - \psi)^{-1} \hat{J}_{\psi\psi}^{-1/2} \sum_{r,s,t=1}^{k} \ell_{\theta_r \theta_s \theta_t}(\hat{\theta}) \hat{\delta}_r \hat{\delta}_s \hat{\delta}_t \right. \\ &- \frac{1}{6} (\hat{\psi} - \psi)^{-3} \hat{J}_{\psi\psi}^{-3/2} \sum_{r,s,t=1}^{k} \ell_{\theta_r \theta_s \theta_t}(\hat{\theta}) \hat{\delta}_r \hat{\delta}_s \hat{\delta}_t \end{split}$$

$$-\frac{1}{2}(\hat{\psi} - \psi)^{-1}|\hat{J}_{\lambda\lambda}|^{-1}\hat{J}_{\psi\psi}^{-1/2}$$

$$\times \operatorname{tr}\left(\operatorname{adj}(\hat{J}_{\lambda\lambda})\left(\sum_{r=1}^{k}\ell_{\lambda\lambda_{r}}(\hat{\theta})\hat{\delta}^{r}\right)\right)$$

$$+\frac{1}{R}\frac{\operatorname{tr}(\operatorname{adj}(A)X)}{\left|\hat{(\hat{\theta}} - \hat{\theta}_{\psi})^{T}\hat{J}\right|}\right\} + O_{p}(n^{-1}).$$

In order to obtain an expansion of \bar{R}^* in terms of log-likelihood derivatives, each term in equation (5.17) can be expanded. Let

(5.18)
$$Z_{\theta} \equiv \frac{1}{\sqrt{n}} \ell_{\theta}(\theta),$$

$$Z_{\theta\theta} \equiv \frac{1}{\sqrt{n}} (\ell_{\theta\theta}(\theta) - nV_{\theta\theta}), \qquad V_{\theta\theta} = \frac{1}{n} E[\ell_{\theta\theta}(\theta); \theta].$$

Note that we have

(5.19)
$$Z_{\psi\lambda} = \frac{1}{\sqrt{n}} \ell_{\psi\lambda}(\theta)$$

because of orthogonal parameters. We continue to set

(5.20)
$$Z_{\theta_r\theta_s\theta_t} = \frac{1}{\sqrt{n}} (\ell_{\theta_r\theta_s\theta_t}(\theta) - nV_{\theta_r\theta_s\theta_t}),$$

where $V_{\theta_r\theta_s\theta_t} = \frac{1}{n}E[\ell_{\theta_r\theta_s\theta_t}(\theta); \theta], r, s, t = 1, 2, ..., k$. The expansion of the first term of equation (5.17) of \bar{R}^* is given by

$$(\hat{\psi} - \psi)\hat{J}_{\psi\psi}^{1/2}$$

$$= (-V_{\psi\psi})^{1/2}Z_{\psi}$$

$$+ \left[\frac{1}{2}(-V_{\psi\psi})^{-3/2}Z_{\psi\psi}Z_{\psi}\right]$$

$$- (-V_{\psi\psi})^{-1/2}Z_{\psi\lambda}^{T}V_{\lambda\lambda}^{-1}Z_{\lambda}$$

$$- \frac{1}{2}(-V_{\psi\psi})^{-3/2}V_{\psi\psi\lambda}^{T}V_{\lambda\lambda}^{-1}Z_{\lambda}Z_{\psi}$$

$$+ \frac{1}{2}(-V_{\psi\psi})^{-1/2}Z_{\lambda}^{T}V_{\lambda\lambda}^{-1}V_{\psi\lambda\lambda}V_{\lambda\lambda}^{-1}Z_{\lambda}\right]\frac{1}{\sqrt{n}}$$

$$+ O_{n}(n^{-1}).$$

The expansion of the second term of equation (5.17) of \bar{R}^* is given by

(5.22)
$$\frac{1}{6}(\hat{\psi} - \psi)^{-1}\hat{J}_{\psi\psi}^{-1/2} \sum_{r,s,t=1}^{k} \ell_{\theta_{r}\theta_{s}\theta_{t}}(\hat{\theta})\hat{\delta}_{r}\hat{\delta}_{s}\hat{\delta}_{t}$$

$$= -\frac{1}{6}V_{\psi\psi}Z_{\psi}^{-1}n^{1/2}(-V_{\psi\psi})^{-1/2}$$

$$\times n^{-1/2}(-1)V_{\psi\psi}^{-3}V_{\psi\psi\psi}Z_{\psi}^{3}n^{-1/2} + O_{p}(1)$$

$$= \frac{1}{6}(-V_{\psi\psi})^{-5/2}V_{\psi\psi\psi}Z_{\psi}^{2}n^{-1/2} + O_{p}(n^{-1}).$$

The expansion of the third term of equation (5.17) of \bar{R}^* is given by

$$\frac{1}{6}(\hat{\psi} - \psi)^{-3} \hat{J}_{\psi\psi}^{-3/2} \sum_{r,s,t=1}^{k} \ell_{\theta_{r}\theta_{s}\theta_{t}}(\hat{\theta}) \hat{\delta}_{r} \hat{\delta}_{s} \hat{\delta}_{t}$$

$$= -\frac{1}{6}(-V_{\psi\psi})^{-3} Z_{\psi}^{-3} n^{3/2} (-V_{\psi\psi})^{-3/2} n^{-3/2}$$

$$\times (-V_{\psi\psi})^{-3} V_{\psi\psi\psi} Z_{\psi}^{3} n^{-1/2} + O_{p}(n^{-1})$$

$$= -\frac{1}{6}(-V_{\psi\psi})^{-3/2} V_{\psi\psi\psi} n^{-1/2} + O_{p}(n^{-1});$$

$$= (-\ell_{\psi\psi}(\theta))^{-1} \ell_{\psi}(\theta) \ell_{\lambda\lambda\psi}(\theta) + O_{p}(1)$$

$$= -V_{\psi\psi}^{-1} V_{\lambda\lambda\psi} Z_{\psi} \sqrt{n} + O_{p}(1).$$

The expansion of the fourth term of equation (5.17) of \bar{R}^* is given by

$$(5.24) -\frac{1}{2}(\hat{\psi} - \psi)^{-1}|\hat{J}_{\lambda\lambda}|^{-1}\hat{J}_{\psi\psi}^{-1/2}\operatorname{tr}\left(\operatorname{adj}(\hat{J}_{\lambda\lambda})\sum_{r=1}^{k}\ell_{\lambda\lambda_{r}}(\theta)\hat{\delta}_{r}\right)$$

$$= -\frac{1}{2}(-V_{\psi\psi})Z_{\psi}^{-1}n^{1/2}(-V_{\psi\psi})^{-1/2}n^{-1/2}$$

$$\times \operatorname{tr}\left((-n^{-1})V_{\lambda\lambda}^{-1}(-V_{\psi\psi}^{-1})V_{\lambda\lambda\psi}Z_{\psi}\sqrt{n}\right) + O_{p}(n^{-1})$$

$$= \frac{1}{2}(-V_{\psi\psi})^{-1/2}\operatorname{tr}(V_{\lambda\lambda}^{-1}V_{\lambda\lambda\psi})n^{-1/2} + O_{p}(n^{-1}).$$

Finally, we have the following expansion of the fifth term of equation (5.17) of \bar{R}^* :

$$\frac{\operatorname{tr}(\operatorname{adj}(A)X)}{R|A|} = \frac{1}{R}\operatorname{tr}(A^{-1}X)$$

$$= -\frac{1}{2}(-\ell_{\psi\psi}(\theta))^{-3/2}\mu_{\psi,\psi\psi} + (-\ell_{\psi\psi}(\theta))^{-1/2}\operatorname{tr}(\ell_{\lambda\lambda}^{-1}(\theta)\mu_{\lambda,\lambda\psi})$$
(5.25)
$$+ O_p(n^{-1})$$

$$= -\frac{1}{2}n^{-3/2}(-V_{\psi\psi})^{-3/2}nv_{\psi,\psi\psi}$$

$$+ n^{-1/2}(-V_{\psi\psi})^{-1/2}\operatorname{tr}(V_{\lambda\lambda}^{-1}n^{-1}nv_{\lambda,\lambda\psi}) + O_p(n^{-1})$$

$$= \left[-\frac{1}{2}(-V_{\psi\psi})^{-3/2}v_{\psi,\psi\psi} + (-V_{\psi\psi})^{-1/2}\operatorname{tr}(V_{\lambda\lambda}^{-1}v_{\lambda,\lambda\psi}) \right] n^{-1/2}$$

$$+ O_p(n^{-1}).$$

Using the results in equations (5.21)–(5.25) in equation (5.17) yields

$$\bar{R}^* = (-V_{\psi\psi})^{-1/2} Z_{\psi}
+ \left[\frac{1}{2} (-V_{\psi\psi})^{-3/2} Z_{\psi\psi} Z_{\psi} \right]
- (-V_{\psi\psi})^{-1/2} Z_{\psi\lambda}^T V_{\lambda\lambda}^{-1} Z_{\lambda}
- \frac{1}{2} (-v_{\psi\psi})^{-3/2} V_{\psi\psi\lambda}^T V_{\lambda\lambda}^{-1} Z_{\lambda} Z_{\psi}
(5.26) + \frac{1}{2} (-V_{\psi\psi})^{-1/2} Z_{\lambda}^T V_{\lambda\lambda}^{-1} V_{\psi\lambda\lambda} V_{\lambda\lambda}^{-1} Z_{\lambda}
+ \frac{1}{6} (-V_{\psi\psi})^{-5/2} V_{\psi\psi\psi} Z_{\psi}^2 - \frac{1}{6} (-V_{\psi\psi})^{-3/2} V_{\psi\psi\psi}
+ \frac{1}{2} (-V_{\psi\psi})^{-1/2} \operatorname{tr}(v_{\lambda\lambda}^{-1} V_{\lambda\lambda\psi})
- \frac{1}{2} (-v_{\psi\psi})^{-3/2} v_{\psi,\psi\psi}
+ (-V_{\psi\psi})^{-1/2} \operatorname{tr}(V_{\lambda\lambda}^{-1} v_{\lambda,\lambda\psi}) \Big] n^{-1/2} + O_p(n^{-1}),$$

where

$$v_{\psi,\psi\psi} = \frac{1}{n} E[\ell_{\psi}(\theta)\ell_{\psi\psi}(\theta);\theta], \qquad v_{\lambda,\lambda\psi} = \frac{1}{n} E[\ell_{\lambda}(\theta)\ell_{\lambda\psi}^{T}(\theta);\theta].$$

This expansion has a remainder term of order $O_p(n^{-1})$. The same general approach can be used to obtain an expansion of \bar{R}^* with a remainder of order $O_p(n^{-3/2})$. Such an expansion has the form

$$\bar{R}^* = (-V_{\psi\psi})^{-1/2} Z_{\psi}
+ \left[\frac{1}{2} (-V_{\psi\psi})^{-3/2} Z_{\psi\psi} Z_{\psi} \right]
- (-V_{\psi\psi})^{-1/2} Z_{\psi\lambda}^T V_{\lambda\lambda}^{-1} Z_{\lambda}
- \frac{1}{2} (-v_{\psi\psi})^{-3/2} V_{\psi\psi\lambda}^T V_{\lambda\lambda}^{-1} Z_{\lambda} Z_{\psi}
+ \frac{1}{2} (-V_{\psi\psi})^{-1/2} Z_{\lambda}^T V_{\lambda\lambda}^{-1} V_{\psi\lambda\lambda} V_{\lambda\lambda}^{-1} Z_{\lambda}
+ \frac{1}{6} (-V_{\psi\psi})^{-5/2} V_{\psi\psi\psi} Z_{\psi}^2 - \frac{1}{6} (-V_{\psi\psi})^{-3/2} V_{\psi\psi\psi}
+ \frac{1}{2} (-V_{\psi\psi})^{-1/2} \operatorname{tr}(v_{\lambda\lambda}^{-1} V_{\lambda\lambda\psi})$$
(5.27)

$$-\frac{1}{2}(-v_{\psi\psi})^{-3/2}v_{\psi,\psi\psi} + (-V_{\psi\psi})^{-1/2}\operatorname{tr}(V_{\lambda\lambda}^{-1}v_{\lambda,\lambda\psi})]n^{-1/2} + R(n^{-1}) + O_p(n^{-3/2}),$$

where $R(n^{-1})$ represents a finite number of terms of order n^{-1} . The specific form of $R(n^{-1})$ is omitted since it is extremely repetitive and tedious; it includes log-likelihood derivatives of the form $Z_{\theta_r\theta_s\theta_t}, r, s, t = 1, 2, ..., k$. Note that, since $R(n^{-1})$ represents a finite number of terms of order n^{-1} , it is a polynomial of Z such that $E[R(n^{-1})] = O(n^{-1})$.

Acknowledgments. The authors would like to thank Editor Jianqing Fan, the Associate Editor and two anonymous referees for their very helpful and constructive suggestions and comments.

REFERENCES

- [1] BAHADUR, R. R. (1971). Some Limit Theorems in Statistics. SIAM, Philadelphia. MR0315820
- [2] BARNDORFF-NIELSEN, O. E. (1986). Inference on full or partial parameters based on the standardized signed log likelihood ratio. *Biometrika* **73** 307–322. MR0855891
- [3] BARNDORFF-NIELSEN, O. E. (1991). Modified signed log likelihood ratio. Biometrika 78 557–563. MR1130923
- [4] BARNDORFF-NIELSEN, O. E. and COX, D. R. (1994). *Inference and Asymptotics*. Chapman and Hall, London. MR1317097
- [5] BARNDORFF-NIELSEN, O. E. and WOOD, A. T. A. (1998). On large deviations and choice of ancillary for p^* and r^* . Bernoulli 4 35–63. MR1611871
- [6] BHATTACHARYA, R. N. and RANGA RAO, R. (1976). Normal Approximation and Asymptotic Expansions. Wiley, New York. MR0436272
- [7] BILLINGSLEY, P. (1986). Probability and Measure, 2nd ed. Wiley, New York. MR0830424
- [8] CASELLA, G. and BERGER, R. L. (1990). Statistical Inference. Duxbury, Belmont, CA. MR1051420
- [9] COX, D. R. and REID, N. (1987). Parameter orthogonality and approximate conditional inference (with discussion). J. Roy. Statist. Soc. Ser. B 49 1–39. MR0893334
- [10] DICICCIO, T. J. and MARTIN, M. A. (1993). Simple modifications for signed roots of likelihood ratio statistics. J. Roy. Statist. Soc. Ser. B 55 305–316. MR1210437
- [11] HUZURBAZAR, V. S. (1950). Probability distributions and orthogonal parameters. Proc. Cambridge Philos. Soc. 46 281–284. MR0034567
- [12] HUZURBAZAR, V. S. (1956). Sufficient statistics and orthogonal parameters. Sankhyā Ser. A 17 217–220. MR0088117
- [13] JENSEN, J. L. (1995). Saddlepoint Approximations. Oxford Univ. Press. MR1354837
- [14] KOLASSA, J. E. (1997). Series Approximation Methods in Statistics, 2nd ed. Lecture Notes in Statist. 88. Springer, New York. MR1487639
- [15] LEE, E. T. and WANG, J. W. (2003). Statistical Methods for Survival Data Analysis. Wiley, Hoboken, NJ. MR1968483
- [16] PERLMAN, M. D. (1972). On the strong consistency of approximate maximum likelihood estimators. *Proc. Sixth Berkeley Symp. Math. Statist. Probab.* 1 263–281. Univ. California Press. Berkeley. MR0405668
- [17] REID, N. (1996). Likelihood and higher-order approximations to tail areas: A review and annotated bibliography. Canad. J. Statist. 24 141–166. MR1406172

- [18] SEVERINI, T. A. (1999). An empirical adjustment to the likelihood ratio statistic. *Biometrika* 86 235–247. MR1705371
- [19] SKOVGAARD, I. M. (1981). Transformation of an Edgeworth expansion by a sequence of smooth functions. Scand. J. Statist. 8 207–217. MR0642801
- [20] SKOVGAARD, I. M. (1981). Edgeworth expansions of the distributions of maximum likelihood estimators in the general (non-i.i.d.) case. *Scand. J. Statist.* **8** 227–236. MR0642803
- [21] SKOVGAARD, I. M. (1986). On multivariate Edgeworth expansions. *Internat. Statist. Rev.* 54 169–186. MR0962933
- [22] SKOVGAARD, I. M. (1996). An explicit large-deviation approximation to one-parameter tests. Bernoulli 2 145–165. MR1410135
- [23] SKOVGAARD, I. M. (2001). Likelihood asymptotics. Scand. J. Statist. 28 3–32. MR1844348
- [24] WALD, A. (1949). Note on the consistency of the maximum likelihood estimator. Ann. Math. Statist. 20 595–601. MR0032169

DEPARTMENT OF MATHEMATICS AND STATISTICS THE UNIVERSITY OF MELBOURNE MELBOURNE, VICTORIA 3010 AUSTRALIA

E-MAIL: h.he@ms.unimelb.edu.au

DEPARTMENT OF STATISTICS NORTHWESTERN UNIVERSITY 2006 SHERIDAN ROAD EVANSTON, ILLINOIS 60208 USA

E-MAIL: severini@northwestern.edu